
Kupplung D30
Anwendungs- und 
Montagehinweise

Coupling D30
Notes on Use and 
Installation

07
/2

00
9 

M
ad

e 
in 

Ge
rm

an
y  

    
  w

ww
.it

em
.in

fo

12 11 7 6

2 31

10

10 145b5a

1113

15

4

8

9

 1. Verbindungswelle VK14 R10/KGT 0.0.463.17
 2. Kupplungshälfte D30 VK14 0.0.337.67
 3. Kupplungszahnkranz D30 0.0.463.20
 4. Kupplungshälfte D30 D6 0.0.337.69
 5a. Kupplungsgehäuse 8 D30 0.0.463.23
 5b. Kupplungsgehäuse 8 D30 0.0.463.23
 6. Zentrierung D50-D22 0.0.379.17
 7.  Zahnriemenumlenkung 5 40 R10 VK14 0.0.410.01
 8. Halbrundschraube ISO 7380 M6x25 0.0.196.71
 9. Sechskantmutter DIN934 M6 8.0.001.30 
 10. Halbrundschraube ISO 7380 M6x16 8.0.002.43
 11. Zentrierung D50-D50 0.0.408.12
 12. Winkelgetriebe WG
 13.  Spindeleinheit KGT
 14. Kupplungsplatte D30/D55 Universal 80x80 0.0.463.10
 15. Kupplungsplatte D30/D55 Universal 120x120 0.0.463.11

 1. Connecting Shaft VK14 R10/KGT 0.0.463.17
 2. Coupling Half D30 VK14 0.0.337.67
 3. Coupling Insert D30 0.0.463.20 
 4. Coupling Half D30 D6 0.0.337.69
 5a. Coupling Housing 8 D30 0.0.463.23
 5b. Coupling Housing 8 D30 0.0.463.23
 6. Centring Piece D50-D22 0.0.379.17
 7. Timing-Belt Reverse Unit 5 40 R10 VK14 0.0.410.01
 8. Button-Head Screw M6x25 0.0.196.71
 9. Hexagon Nut DIN934 M6 8.0.001.30 
 10. Button-Head Screw M6x16 0.0.002.43
 11. Centring Piece D50-D50 0.0.408.12
 12. Bevel Gearboxes WG
 13. Ball Screw Unit KGT
 14. Coupling Adapter Plate D30/D55 Universal 80x80 0.0.463.10
 15. Coupling Adapter Plate D30/D55 Universal 120x120 0.0.463.11 


